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AT SE HE A e H T BRAE JE T PR
[1] ¥2PCB 130 %0.3 %0.9
I EEEEY 7.3 0.02 0.06
[12] Y7 vr 7 ==/l 39 0.05 0.12
R EEEEEEEY 38 0.04 0.10
[1-4] 7 hF7nB 7 ==L 31 0.03 0.08
[1-4-11 275 F—PCBD 9 5 3344-T FF 77 ==L #7) 0.22 0.01 0.04
[1-4-21 275 F—PCBD 9 H 34457 hT7 7t ”7 =)L (#81) nd 0.02 0.04
[1-5] Ry & /a7 ==LH 9.3 0.07 0.17
[1-5-11 27 FF—PCBD 9 $ 233 44X Z/an bt 7=, (#105) 0.59 0.02 0.06
[1-52] 275 F—PCBD H 5 23445~ 4 a7 ===l (#114) nd 0.02 0.04
[1-5-3] 27 FF—PCBD 9 5 23 445X Z/anb 7 =)L (#118) 0.78 0.04 0.12
[1-5-4] 275> —PCBD H H 2 344,524 7nat 7 =)L (#123) nd 0.01 0.04
[1-5-5] 27 FF—PCBD 9 $ 33 445X Z/ant 7 =)L (#126) nd 0.01 0.03
[1-6] ~F¥H¥ 7 nn b7 == LH 3.8 0.03 0.09
[1-6-1]1 277 F—PCBD H % 2,33 44 5-~F 7 na 7 ==L (#156) 0.07 0.01 0.03
[1-62] =75 F—PCBD > 5 233 44,5-~F ) s7not7c=,L (#157) tr(0.02) 0.01 0.03
[1-6-3] 27 FF—PCBD 9 2,3 44,55 -~FH 7o 7 =)L (#167) 0.03 0.01 0.03
[1-6-4] =75 F—PCBD 7 5 334455 ~F oot 7 c=,L (#169) nd 0.01 0.03
[1-7] ~FZ 7 un 7 = =¥ 0.86 0.02 0.06
[1-7-11 275> —PCBD H 5 2,2'3344.,5-~7 4 7aut 7=/ (#170) 0.10 0.01 0.03
[1-72] 275 F—PCBD H 5 2,2 344 55-~7 X7 mu 7 =L (#180) 0.18 0.005 0.012
[1-7-3] 275> —PCBD H 52,3344 55-~7 4 7aut 7= (#189) nd 0.01 0.03
[1-8] A2 Z 7 un 7 = =¥ tr(0.11) 0.05 0.13
[1:9] /F 27 mrE7 ==L} nd 0.02 0.05
[1-10] FH 7 nm 7 ==L tr(0.01) 0.01 0.03
[2]HCB (~F¥H 7 norEy) 130 0.04 0.09
[11-1] a-HCH 26 0.04 0.10
[11-2] #-HCH 6.5 0.03 0.07
[11-3]y-HCH  (Bl%4 : Vo7 V) 21 0.03 0.09
[11-4] -HCH 1.6 0.03 0.08
[14 AR T eEYT7 == Vx—F )V (RERP4PHI0ETDOEHD) tr(1.9) X1.4 %3.5
[14-1]1 7 F T 7 0EY 7 2 =)Lt —F VI tr(0.2) 0.2 0.6
[14-1-1122'44-F T 7 REY T = =)LT=—F )L (#47) 0.15 0.02 0.05
[142] RV B2 T aEVT = =)L T—F )V nd 0.05 0.12
[14-2-1]12,2 44520 # T 0EY T = =)L T—7 /L (#99) nd 0.04 0.09
[143] ~"FHTHEY T = =)L —F )L nd 0.2 0.5
[14-3-1]12,2° 4455 ~FHF T 0ED T == LT —F )L (#153) nd 0.06 0.17
[14-3-2]22'44 5,6-~F V70 E 7 = =)L=—F /)L (#154) nd 0.07 0.19
[14-4] ~"T X T eEY T 2= )L—F LI nd 0.2 0.4
[14-4-112,2'3,3'4,5,6-~7 X 7T 0ET 7 ==L —F )L (#175) nd 0.06 0.15
[14-4-2]2,2' 344 56-~7 4 70E T 2 =/L—F )L (#183) nd 0.06 0.15
(1451 A2 270 EY T == )b =—F )L nd 0.1 0.3
[14-6] /7T aEY T =)L —TF )LIH nd 0.3 0.7
4N TFH7TuEDT 2= )Lx—F )L 1.7 0.3 0.9
[15] <V T NAat s 2 2k (PFOS) 7.0 0.07 0.19
[16] ~ 7 A aA s % o (PFOA) 12 0.2 0.5
[17) =& 7 mu~rHr 65 0.03 0.08
[19] 1,2,5,6,9,10-~F 7 aE 7 a K70 U8 nd %0.18 %0.48
[19-11a-1,2,569,10-~F YT uE 70 KT tr(0.06) 0.06 0.16
[19-2] 8-1,2,5,6,9,10-~F % T aEL 71 K5 nd 0.07 0.18
[19-3]y-1,2,5,6,9,10-~F ¥ T aE 7 a K7 v nd 0.05 0.14
RU~FYrunTH-13-Dx 2,100 [ 1,900 [ 2,000 20 50
[23] SRR T 7 4 K tr(400) %400 1,100
[23-1] BT 8 170 40 110
[23-21 Ry 7 1 U tr(200) 100 300
[23-3] Hi ik K74 4 nd 120 360
[23-4]1 B b U T nd 110 330
[25] "L 7 VA a~F Y ALK R (PFHXS) 5.3 0.04 0.11
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